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Question Number : 1 Question Id : 477187919 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following Principles of Development with their implication
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Identical twins alsp differ in their

development
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Growth and development in any one
area affects growth and development in
other areas
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Question Number : 2 Question Id : 477187920 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Changes in behaviour simply because of growing in age 1s
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A) Maturation
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B) Learning
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Question Number : 3 Question Id : 477187921 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the mental abilities among the following
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A)  Memory
IR
B) Perception
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C) Imagination
Choose the corect answer

4= il nl | B - b
r&;ﬁé cJolJ” L"_Fr_fcgdc“_ 2otn8 ol

Options :
AB&C

1. ¢
A & B only
A & B srgah

A &' C 01113'
A & Csirgad

B &.‘ C Gnly
B & C srgah



Question Number : 4 Question Id : 477187922 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Development of capacity to reason’ is a developmental task of this stage
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Question Number : 5 Question Id : 477187923 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Kohlberg has conducted test of moral judgment consisting of a set of moral

dilemmas to estimate one’s sense of
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Question Number : 6 Question Id : 477187924 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following relating to Piaget's theory of cognitive development
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A)  Schema i) learning new ways by changing existing

coghitive structures
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B) Assimilation 1) General potential to perform a particular class of
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C) Accommodation 1i1) Maintaining balance between oneself and one's

environment
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D) Equilibration iv) Fitting ideas into existing cognitive structures
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Question Number : 7 Question Id : 477187925 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Habits like reflex actions are automatic, but habits differ from reflex actions in
this way
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Question Number : 8 Question Id : 477187926 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the factors that contribute to personality
development
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A) Heredity
@508 548
B) Environment
285080
C) Child rearing method
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D) Personal experiences
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Question Number : 9 Question Id : 477187927 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ident.ify well adjusted person among the following

806 B o Rarin 5OAD H50 Mool
Options :

Baby set high aspiration for herself and is struggling to make place for

herself in the fashion world

25 #5550 whd w508 28 UhHhod HBCH TR 39 Hodos® Ek8ctr 2.8
P H0arBo DS SRS B5HhE 0h

e 7 f
Baala always appreciates others goodness and does not try to look for
faults
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Babu is very rigid and does not agree a single change in any of his works
either at home or in office.
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Question Number : 10 Question Id : 477187928 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this method, we create a situation controlling certain conditions to study

behaviour -
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Question Number : 11 Question Id : 477187929 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which among the following can bring about change in behaviour of individual?
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Choose the corect answer
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Question Number : 12 Question Id : 477187930 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Veena 1s a teacher who always plans diverse activities for her classroom
transaction to accommodate all learners and the performance of learners in her
class 1s always high. In this example, ‘diverse activities’ that influence learning
comes under this factor
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Question Number : 13 Question Id : 477187931 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Anita and Sunita are two sisters. Both of them have 4 year old daughters. Anita
always gets over involved with her daughter and forces her to do activities that
are in advance of her age while Sunita does not care to provide any learning
experiences to her daughter that can be learnt for her age. Which of the sisters
practice is NOT in accordance with Thorndike's Law of Readiness?
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Options :

Both Anita and Sunita are in accordance with Thorndike's Law of

Beadiness
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Question Number : 14 Question Id : 477187932 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Extinction in classical conditioning is disconnection between
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Question Number : 15 Question Id : 477187933 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Richa, a pre-school child cries every morning to go to school. One day when
Richa did not cry to go to school her mother gave her a chocolate. From then
onwards Richa stopped crying as her mother was giving a chocolate daily. This
13 an example for
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Question Number : 16 Question Id : 477187934 Question Type : MCQ Option Shuffling : Yes Display
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Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
One of the following does NOT find a place in explaining learning by Gestalts
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Question Number : 17 Question Id : 477187935 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A mother trying to teach her daughter to brush her teeth is targeting this
domain of learning
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Question Number : 18 Question Id : 477187936 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is a secondary motive
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Question Number : 19 Question Id : 477187937 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The important attribute of this memory 1s that. information received through
senses 15 encoded 1n a properly organized and systematic way
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Question Number : 20 Question Id : 477187938 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Vara after his graduation in science joined ‘Law’ course. His science background

did not help him in progressing in the new course. This i1s an example for
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Question Number : 21 Question Id : 477187939 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

For gaining concentration of learners on learning, a teacher should align her
teaching to
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Question Number : 22 Question Id : 477187940 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Teacher awareness about the goals to be achieved at the end of the lesson
should happen during this phase
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Question Number : 23 Question Id : 477187941 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Problem solving method concludes with
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Options :
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Question Number : 24 Question Id : 477187942 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In inclusive education practice, preparing the school for the child means
adapting the
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A)  School Environment
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C) Physical environment
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Choose the corect answer
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Question Number : 25 Question Id : 477187943 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following schools does not come under ‘specified category’ schools in
the Right of Children to Free and Compulsory Education Act, 2009
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Question Number : 26 Question Id : 477187944 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following 1s NOT a tool of Summative Assessment
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Question Number : 27 Question Id : 477187945 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Child abuse is a
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Question Number : 28 Question Id : 477187946 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Children learn to frame rules and play in an organized manner in this type of

play
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Question Number : 29 Question Id : 477187947 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Vinoda told her students to discuss among themselves and come up with draft
rules for their classroom that can be finalized after a final discussion with her.
The leadership style of Vinoda is
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Question Number : 30 Question Id : 477187948 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Bruner. good teaching 1s that which emphasises this of a subject
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Sub-Section Number : 1
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Question Shuffling Allowed : Yes



Question Id : 477187949 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 34)
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Sub questions

Question Number : 31 Question Id : 477187950 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 477187951 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 477187952 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 477187953 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Id : 477187954 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (35 to 38)
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Question Number : 35 Question Id : 477187955 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 477187956 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 477187957 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 477187958 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Shuffling Allowed : Yes



Question Number : 39 Question Id : 477187959 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 477187960 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 477187961 Question Type :

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 477187962 Question Type :

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 477187963 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 477187964 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 477187965 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 477187966 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 477187967 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 477187968 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 477187969 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

tal
cih

n O £t
23 30T oGt ?

5
i o g ol
o] oljEeSell

,,J
o
(=] i=]

Options :

B8
], % -

%?;:-F_aneﬂi)
2. ¢

PEO6
3, %

arse
4. %

Question Number : 50 Question Id : 477187970 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 477187971 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 477187972 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 477187973 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 477187974 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 477187975 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 477187976 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 477187977 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 477187978 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 477187979 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 477187980 Question Type :
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

3

Online
Mandatory
26

26

30

0

1
47718753
Yes



Question Id : 477187981 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

India 1= the world's third-largest energy consuming country and a
significant part of its energy requirement is met through oil which largely
continues to rely on imports. India's share in global energy consumption is set to
double by 2050. Rising energy demand and high reliance on imports pose
significant energy security challenges. It also leads to massive foreign currency
outflow. Further. excessive use of fossil fuels leads to higher carbon emissions
and associated health concerns.

Domestically produced ethanol 1s a potential opportunity to reduce reliance
on oil imports by blending it with conventional fossil fuels for consumption.
Ethanol 1z one of the principal biofuels. which 1s naturally produced by the
fermentation of sugars by yeasts or via petrochemical processes such as ethylene
hydration. It has medical applications as an antiseptic and disinfectant. It 1s
used as a chemical solvent and in the synthesis of organic compounds, apart
from being an alternative fuel source.

India started blending ethanol in petrol on a pilot basis in 2001. Based on
state-of-the-art indigenous technology. Ethanol Plant in Haryana will turn a
new chapter in India's waste-to-wealth endeavours by utilising about two lakh
tonnes of rice straw annually to generate around three crore litres of Ethanol
annually and will reduce greenhouse gases equivalent to about three lakh
tonnes of carbon dioxide equivalent emissions per annum.

Sub questions

Question Number : 61 Question Id : 477187982 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage, which of the following 1s correct?
Options :

Ethanol can be directly used as fuel instead of fossil fuels.
1. ®



Fossil fuel 1s produced by the fermentation of sugars by veasts.

2. %

Ethanol can be used as a disinfectant.
3.

The use of ethanol will increase greenhouse gases.
4. %

Question Number : 62 Question Id : 477187983 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage, which of the following pose significant energy security
challenges for India?

Options :

High reliance on exports and rising energy demand
1. ®

5 % Falling energy demand and high reliance on exports

High reliance on imports and rising energy demand
3. ¢

L% Rising energy demand and falling reliance on exports

Question Number : 63 Question Id : 477187984 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Based on the passage. identifv one of India's waste-to-wealth endeavours.
I 24 4

Options :

producing conventional fuels by the fermentation of sugars by yeasts.
1. ®

utilising fossil fuels replacing ethanol.

3 % utilising abundant fossil fuels freely.



utilising rice straw to generate Ethanol.
4. ¢

Question Number : 64 Question Id : 477187985 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ethanol Plant in Haryana was

Options :
Increasing greenhouse gases equivalent to about three lakh tonnes of

carbon dioxide per annum.

based on state-of-the-art indigenous technology.

based on the imported technology.

primarily used for producing chemical solvents and synthesis of organic

compounds.

Question Number : 65 Question Id : 477187986 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the word from the passage which means “indigenous”.

Options :

foreign
1. ®

wild
2. %

native
3.

expatriate
4. %

Sub-Section Number : 2
Sub-Section Id : 47718754
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 477187987 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly sequences the following sentences.

A) He has mastered the English vocabulary by reading these two newspapers.

B) He usually reads The Hindu every morning.

C) With the mastery over the English vocabulary, he is visiting the nearby
schools to teach the students vocabulary through the games like word
puzzle.

D) My uncle iz a regular reader of newspapers, especially the Englsh
newspapers.

E) However, he is reading The Deccan Herald these days.

Options :
D.EACB

1. ®

. A.B.C.DE

D.B.E A, C
3. ¢

B.D.A.E,C
4. %



Question Number : 67 Question Id : 477187988 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Now 1s

Identify the suitable option to complete the proverb.
Options :
better than never

1. ¢

better than neither

better than today

better than bower

Question Number : 68 Question Id : 477187989 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I usually cut corners to buy books for the UPSC exams.

The meaning of the expression “cut corners” is

Options :

to dare to do anything.
1. ®

to spend money at any length.

3 to zave time and money.

to borrow money from others.
4. %



Question Number : 69 Question Id : 477187990 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The 13sue of elections 18 under intense debate.

Choose the correct option to complete the sentence.

Options :
simultaineous
1. %

simultaneous
Y

simultanious

simultaneos
4, ®

Question Number : 70 Question Id : 477187991 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the word having the letter “h"” pronounced.

Options :

hour
1. %

honour
2. ®

heiress

handsome
4. &



Question Number : 71 Question Id : 477187992 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct option with regard to the grammatical correctness of the
following sentences.
A) The elephant is not as tall as the giraffe.
B) The giraffe 1s taller than the elephant.
Options :

Only the Sentence A 1s correct.

Only the Sentence B 1s correct.
2. %

v Both the Sentences A and B are correct.
3.

Both the Sentences A and B are not correct.
4. %

Question Number : 72 Question Id : 477187993 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The old man was moved when he saw crying in the street.

Choose the most appropriate option to complete the sentence.
Options :

a one-eyed beggar
1. ¢

an one-eyed beggar
2. %

one-eved beggar
3. %

a eyed beggar
4. %



Question Number : 73 Question Id : 477187994 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

The twelve-vear- old girl runs fastly.

A B C D

Options :

Question Number : 74 Question Id : 477187995 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher said to her students, “Do your classwork properly.”

Choose the appropriate reported sentence.

Options :

The teacher advised her students to do vour classwork properly.
1.

The teacher advised her students to do their classwork properly.
2.¢

The teacher advised her students to do her classwork properly.

L% The teacher advised to her students do their classwork properly.



Question Number : 75 Question Id : 477187996 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The English speech sounds are too tricky to learn, ?

Choose the correct option.

Options :
are they

1. ®

aren’'t they
2.¢

don’'t they

do they
4.%

Question Number : 76 Question Id : 477187997 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Many . the enemy country has been warned but in vain.

Choose appropriate option to complete the sentence.

Options :

a time
1. v

a times

the times

time



Question Number : 77 Question Id : 477187998 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The newly joined employee seems to know everything and hence he is called

Choose the appropriate option to complete the given sentence.

Options :

omnibus
1. #

omnipresent
2. %

omnipotent
3. %

gmniscient
4. ¢

Question Number : 78 Question Id : 477187999 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Had the puppy been chained. it would have been saved.
The meaning of the sentence 1=
Options :

Though the puppy had been chained. it had not been saved.

1. #

The puppy had been chained. and hence it had been saved.
2. %

In spite of having been chained. the puppy had not been saved.
3. %

If the puppy had been chained. it would have been saved.



Question Number : 79 Question Id : 4771871000 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the students a rash after the long field trip.

Identify the expression to make the sentence meaningful.
Options :
broke out in

1. ¢

broke out

broke in

broke up
4. %

Question Number : 80 Question Id : 4771871001 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
was lazy, managed to pass the test.

Choose the correct option to complete the sentence.

Options :

So Pranav. he

1. #

Although Pranav, he
2. ¢

Although Pranav, but he
3.

If Pranav, he
4. %



Question Number : 81 Question Id : 4771871002 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The patient had suffered dengue for a long time and recovered,

however, he died dengue.

Choose the appropriate option to complete the sentence.

Options :

with, from
1. %

of, from

from, of
3.¢

of, with
4, %

Question Number : 82 Question Id : 4771871003 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Now-a-days, the students are with the mundane classroom

teaching. As a result, many students in their exams.

Choose the correct option to complete the sentences.

Options :

bored. fail

1. v

interested, excel
2. %

exclted, pass
3. ®

attracted, fail



Question Number : 83 Question Id : 4771871004 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Raghav excelled in studies, so did his sister.

Identify the meaning of the expression “so did his sister” in the sentence.
Options :

Raghav's sister also excelled 1n her studies.
1. v

Raghav's sister helped him in excelling in her studies.

Raghav's sister did not excel in studies.
3. %

Raghav's sister excelled in her studies. so did her sister.

Question Number : 84 Question Id : 4771871005 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The voung girl is showing a precocious talent for computing.
Choose the correct meaning of the word “precocious”.
Options :
backward

1. ®

advanced
2. ¢

precarious
3. ®

risky



Question Number : 85 Question Id : 4771871006 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In many languages, the fundamental word order is ‘subject-verb-object” (SVO).

This aspect of language 1s dealt with in

Options :
phonology.

1. ®

syntax.
2. ¢

lexis.

semantics.

Question Number : 86 Question Id : 4771871007 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the precaution that should be observed when creating distractors in a
multiple-choice question.

Options :

The distractors should be in the same form as the correct answer.
1. v

The distractors should be easy to identify and eliminate.
2. %

The distractors should vary in difficulty level.
3. %

The distractors should contain multiple potential correct answers.
4. %



Question Number : 87 Question Id : 4771871008 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the sub-gkill of Reading.

Options :

Connecting paragraphs using proper conjunctions
1. ®

Organizing the information logically and clearly
2. %

Using appropriate words and structures to express the intended meaning

3. %

Locating the topic sentence of a paragraph
4.

Question Number : 88 Question Id : 4771871009 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This method of teaching focuses on habit formation through repetition and

drills.

Options :

Communicative Language Teaching

1. #
Grammar-Translation Method
2. %
Audio-Lingual Method
3.¢

Direct Method



Question Number : 89 Question Id : 4771871010 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Sociocultural Theory (SCT) of language development was pioneered by

Options :

Lev Vygotsky
1. ¢

Noam Chomsky

2. ®

Stephen Krashen
3. %

Michael Long
4. %

Question Number : 90 Question Id : 4771871011 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Questions relevant to the context and the responses.’
This 1s an indicator of the following discourse.

Options :

Essay
1. ®

Choreography
2. %

Biography

Interview
4. &

Mathematics

Section Id : 47718734
Section Number : 4



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 47718755
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4771871012 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
IfA = {x: x> = 9} and B = {x: x2—5x+6= U} are two sets, then
A—B =

A = fa: P 9} %80 B = {x: x% = Bxd = 0} e Botd Hien

'?:Pf-'_p'Jé. A_B =
Options :
\—1}
1. #®
(-2}
2. %
\—3}
3.¢¥



Question Number : 92 Question Id : 4771871013 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The arithmetic mean of first 90 natural numbers 1=
302388 90 Hire: Sogpe @oBiihE Hilé

Options :

Question Number : 93 Question Id : 4771871014 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The angle between two diagonals of a rhombus 1s

.
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Question Number : 94 Question Id : 4771871015 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In BA x B6 = 72A, BA. B6 are two digit numbers and 72A 1s a three digit number

then the valueof A + B s

- N - 2 o L i 1 r il 3
BA x B6 = 72A &° BA, B6 933 Told @o3e Hogren s00din 72A add 0t

05
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2og; wond, A + B Dend
Options :
10
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Question Number : 95 Question Id : 4771871016 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

; 1 i e
The number lies between - and = 18

I e . : -
— s08din — & oY) &0k Doy
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Options :

2
9
1.
1
12
2.
3
s w19
21



Question Number : 96 Question Id : 4771871017 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number of subsets of set M=1{ x: x is a letter in word ‘PRINCIPAL’} is

2808 M={x: x 836 ‘PRINCIPAL’ &3 5806° &8 ®ilo } Gng) &0:58b&e Sogy;

Options :

28
1. ®

6
2. ® -

2*
3.

29
4, ®

Question Number : 97 Question Id : 4771871018 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The nearest prime number to 210 1s
210 & 5803 persd Doy

Options :



Question Number : 98 Question Id : 4771871019 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A perpendicular drawn from a vertex to the opposite side of a triangle i1s known

as

= " o
£ gt o s Bar R @ BB S
2.5 ;g_fﬁj)[*;ﬁ- ‘C—'J.JJE%_ lalel ol 0 208 ADY wom OFnD B9

¥ —=

LJ:I
=
G
o
o
B
L=
2
Cx,
LE

Options :
Altitude
oJE%

1.v 7

Centroid

(3,

D

Chord



Question Number : 99 Question Id : 4771871020 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the radius of a sphere is doubled. then the ratio of volume of initial sphere to

newly formed sphere 1=

n ¥ T 4 T B e o 7 B T e R N £ Lo roF B
2.8 R°¥o {_Tu;éé-r c;","rj”{(l]@ 6%9&; YWona, &0 NS0 ':J_:'Lu:lé', QHDH,DJE'DJJ'EEQ soBd arES APdo

GInE) wddBdrere Jos
Options :
1:2
1.

2%1:4

3 % 3:1

4\#}1:8

Question Number : 100 Question Id : 4771871021 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
[100 — (99)°] x [100 + (99)°] =
Options :

9900
1. ®

9909

9999
3.¢

4 % 199



Question Number : 101 Question Id : 4771871022 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Coefficient of X 1n the term — PEs

=1 Erooprt | non
=T ey e ey 3
—— &g abod” X olns; (Dess0
&

Options :

1

L. 5

|
2. %

3.0

1

4. % 5

Question Number : 102 Question Id : 4771871023 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The angle 72° when converted to radian will be

" - r-R. o s
72° S0 BEcHSES Srtym

Options :
41
] % 3
2m
5
2.
T
&
3. %
3w
4



Question Number : 103 Question Id : 4771871024 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The angle between the minute-hand and the hour-hand when the clock strikes
4 o' clock 1=

R I TN Y /Y N e, SOV N 37 WY GRS Sy SRR JR g o 1 T
NE:0006° 4 Noten @ondaytd Jébale alen S0Ba Hoée awens 208: 5o
-

Options :

135°
1. ®
5 % 150
3 % 105
120~
4. &

Question Number : 104 Question Id : 4771871025 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The point which satisfies 3x + 5y < 13 is

3x + 5y < 13 2 83 583 Doth

Eh

Options :

| % (=1.4)

(8,—2)
2. %

-3,—4
3o ¢ )

(2,2)
4. %



Question Number : 105 Question Id : 4771871026 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
(p+1),(g+1),(r+1)arein AP.if

(p+1),(qg+1),(r+1)en 008 @&S° &0t

\..J-l'.h

Options :
1 2q=p+1
2q=p+r
2. ¥
28 —=r+1
3. %
4. % B an

Question Number : 106 Question Id : 4771871027 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number of tangents that can be drawn to two circles if they touch internally

18

(&1}

D,_i

. EA

e 7Y 2 e S T I
JEen @odbore dydothtod, a8 AcHi G098 Hog;

- %4 T

Options :

1
1. ¢



Question Number : 107 Question Id : 4771871028 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Slope of the line x = 3y + 5 1=
x=3y+5 o O aoen

Options :

Question Number : 108 Question Id : 4771871029 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If A € B then

A € B woxz
Options :
AUB=A
1. #
AUB=B
2.9
ANnB=0
3. %
AUB=9

4. =



Question Number : 109 Question Id : 4771871030 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following are relatively prime numbers?
Sob >SS PoB RN DoPen a)?

Options :
6,18

Question Number : 110 Question Id : 4771871031 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
(2V5 +V7) (V7 — 2V5) =

Options :

.
l.%
0
2. %
—13
3.¢
-2



Question Number : 111 Question Id : 4771871032 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a book there are 120 pages with 36 lines in each page. If the number of lines in
a page 1s reduced to 24, then the total number of pages in the book will be

] =
—r Iy

E i L = . . - . S sy S = . s 5
2.8 HNBos® 120 2den Gryom, HE &S 36 Hoden Gotron. a.E E

L

[P S
adOSIe

e Y =N AT ., 1 Sl N S (SO NN, ;
D030 24 8 #AD, 8 HH50d°D Fudo pde Dog); wod?
£ o L

144

Question Number : 112 Question Id : 4771871033 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The mean of the median and mode of the observations 5.6, 12,9, 14, 8, 16,9, 9, §
13
5,6,12,9, 14, 8,16, 9, 9, 8 e oiidgo 58000 ersmESon Gns) &
Options :

9.6
1. %

9.0
2.9



Question Number : 113 Question Id : 4771871034 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Sum of the digits of a two-digit number 1s 9. If 45 1s subtracted from the number,

its digits are interchanged. The number 1s

oo
—
=

= o EBE o m D | L Mo g Ba S N enoBen B85S
2.8 ColoSe Hogyd d ®oSe dméo 0. @ Jog; ol 45 8Hd7 el @oBen HED 00

Question Number : 114 Question Id : 4771871035 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If 3(2'}:_ 1) — 27(3 —J::}‘ then X =
3(2271) = 2768 gond, x =
Options :

1.331

[~

4.



Question Number : 115 Question Id : 4771871036 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Mathematics 1s often called a *symbolic language’ because:
Hederdy 860 o 265 ol ©0 De :w 5 aothod:
Options :
It 18 easy to understand for everyone.

26 @otids edo ThBHito hedo.

It uses rhythmical expressions to explain nature

58 28,82 DHBoteelE adhalishsd & 2 58mod 6HAPR0B.

Q Bl o -

It provides precise and concise tools for expressing mathematical 1deas

38 N8 86 550D 55580508 99 DS DB Jods FETrerh Bobkobd.

3.¢¥

It 1s a generally used language.

28 Jrorlmor SnGrAcD &R,



Question Number : 116 Question Id : 4771871037 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following iz NOT a feature of open-ended questions?
80B 36° 06 LD5-JoBE P ofmo seh?

Options :

Allows multiple correct responses

o ARV O ¥ PV W L g Lat \
200 2oTUY HaTPTPIPeN) Wrlindanod

Encourages critical thinking

T, T L Bt
a..EI‘ﬁ;m“ﬂé: LTSRNy mu"‘.‘g ChNY, ob
w

Has a single and fixed correct answer

L - T ot = 1
: oo} ol c-.J_,' oded odods® o :':\:'\ ::.cr GO0
2.8 2.5) $B0M BORS $B8 Sirerard) SOA dotnod
3‘ ‘\‘:-"? g & il o

Supportive of creativity and divergent thinking

#

Dy dEE Sboh DEK) 86 SKeh HEHD 5508



Question Number : 117 Question Id : 4771871038 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This i1s the correct sequence from lowest to highest level in the revised Bloom's
Taxonomy.
GEBonS m‘ﬁ-‘:ﬁ}; Eﬁ"‘- Seadt e r\_,' oo ool @ _flﬁaéﬁe';‘og ROH 36 HT3 HHD Bavo
Rreikiob.
Options :
Remembering — Understanding — Applying - Analyzing — Evaluating —
Creating
Eéécé{’ SoSdo — LiTEES BinBiBdo — DAGPASED — Eﬁéﬁ;@ﬁfcﬁa —

srerro8io a6h%o — ) %}oiﬁﬂﬁo

1. ¢
Remembering — Applying — Understanding — Analyzing — Creating —
Evaluating
Ee?a’iéoé‘s SoSdo — DOEFACSE0 — WRTETS BissEo — é&pué@ —
S :q«::wlﬁ —~ Surerosio Zohido

2. %
Understanding — Remembering — Applying — Evaluating — Creating —
Analyzing
BSTrS TenBisdo — fmméaé‘s Boiio —~ A@rRoSED — Sirerodbo Baho
— fﬁ;é;oﬁc‘ia — mé&.’i_@h o

3. %

Remembering — Applying — Understanding — Evaluating — Analyzing —
Creating
fmméoé‘s &osto —~ DAEPRoSED —+ edrirsd Bensidto — Srerpsho Sahko

— B
:u§ ﬁd ﬂl;éi"::l EECI



Question Number : 118 Question Id : 4771871039 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
This 1s the most important factor to consider when presenting the content of

secondarv-level mathematics textbook.
ond® HBE rEHNEes R drToeed) HE8)

; E’Jf

Rilelels

2h
B
O
an @
L]

305
Options :
Preferences of the authors and editors

Sfomden 800 RoaRiHe PR Een

Focusing only on theoretical aspects

jhtjcowé woI el - @-:-.4., 8,51 Restto
L & =

Number of pages to be printed in a mathematics textbook
e

PO Bod” Anhodat Ee Sog);

Appropriate age and cognitive level of the students

Eﬁ’ﬁg*’f ainile HChny 2Bl ePaed B ;TF‘DJ::
3 ED

4. ¢



Question Number : 119 Question Id : 4771871040 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In drll work, whv should mathematics teachers check students’ mistake

s
0% #05) ToTRE?

h

9508 HIE°, KBS sarrrcinen e o Jol

i

Options :
Helps in completing the syllabus
Bond 8 DO Fesntodod

1.

To correct and guide students
1 SrE080 Bohdo
] ]

a

&-G“;ﬁé-ﬁ??jj ES@E}??Z{:- sobBdw 5

2.
To punish students for their repeated mistakes
50 50 Bayen 3_;1 aJTr 6gﬂ; ) Boio

3. % %

Making learning a burden.

J 53, erdore sedyE

AL
cfa.



Question Number : 120 Question Id : 4771871041 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following does NOT help with constructive learning in

mathematics?

HeBos® Qomemis;s wefHardl £ Bob 6 DB S BE?

Options :

Math lab activities and group discussions.

- &

el ST o D) e
gt @;0.'?15_‘1@1‘3: & @eren snbEm 0 &

) Ll

1. #

Facilitating student exploration and reasoning.

o A (4 i e Ty gl
TR0 BednalEd HoBd 3SH8D ¢

e

Real-life problem solving.

c 5
P o BT g Ao wio D
o83 ol odolDedt D_J’Ef'-:a.._ 1(:“:'

S S IV S P
xogidto Bdbéo.

Focusing only on what the teacher 1s saying.

g VY e e e T T T T S
SalP R 4 5'_I=‘. CPed ol Cu'lfj":l..l.—l Df\i‘:‘-"- aJe{z0.
) J (xd i e

4. ¢

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Science

47718735
5

Online
Mandatory
30

30

30

0

1
47718756
Yes



Question Number : 121 Question Id : 4771871042 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
1 Torr is equal to (in Pascals)

28 $5mso (%

3y

1 é&m5

Options :
L% 76

760

101325
4, %

Question Number : 122 Question Id : 4771871043 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A hybrid solar eclipse 1s nothing but
ot =5

[T R g =
a|B 60 cOrNeTPea0 @O

Options :
An eclipse that is partly lunar and partly solar

srEBorr SoBiaeso s080in srESorr JrdyiiaPneo G0k [0

A solar eclipse that changes from an annular to a total one

| S _ Y W v W TR . SV S
Hedirsed o '.‘j_"l‘l_s-‘n:.f':'ﬁﬁﬂ ol wo ﬂg e MeP Ol sl PO u:\_A_-"D_"I;\I_%H:-T"EE".:J

2.¢

A solar eclipse that occurs at night

R S~ A Vit o S
TPjesod™ e rSle Al e ln E‘«.IJT"'DUI_[H]C-.'T{.-GO

An eclipse visible from both the North and South Poles

" 5 P - ¢ WmBL T st
&80 s0bdin B8 Jyare Dol E%hod [ePmo



Question Number : 123 Question Id : 4771871044 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The correct relationship between the speed of light in a vacuum and its speed in

other transparent media

driod” sHbain BEd FESHE dirdtred Tod Do 508y $08 Homodo

o

Options :

Light travels faster in transparent media than in a vacuum

s i R g s im P e P e
5208 drd;od” ol SPOHGE dirddod”® aiys o8 Hdirdiod

Light travels at the same speed 1n both transparent media and vacuum

o

=]
[

o . e oz s . k7. ST o & e
Fod r55E dirdEos® Hbcn rdos 28 o8 Hardihod

2. % B
Light cannot travel through transparent media

08 PEHGE rsSod® Hairdosth

Light travels slower in transparent media than in a vacuum

oy T £ s ] - .
08 rS08° Sol) PEEGE oIrsEos® IHre Hairsiod
4.



Question Number : 124 Question Id : 4771871045 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Compressions and rarefactions in a sound wave travel in:

- P N . & R S T -~ s ek ™ :
&3 E8oiiod ) Doatiaren HOdD J8LET5eren £ Sod HF0S® Hairedaron:
Options :

the same direction
2.8 HES
1. v

opposite directions

5808 B

2. ®
perpendicular directions
som BEed’

3. ®

random directions

. o
Airtlyi) 8 Hfed”

4. % =



Question Number : 125 Question Id : 4771871046 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following statements and choose the correct answer

e
&

Sob arrgren) 86 N0H NelrTPR0 woinS ol

Statement I : Condensation is a warming process.
=, F = - Iy . o r
Py 1 . JropBBeso 938 tu8n @HECD.

Statement II : The phase change from gas to liquid 1s called Condensation.

#

e 11 . SROE) BHor S0 B8 ey JroElno wotrdh.

Options :

Both statement I and statement Il are correct
v e I 598050 ooy 11 Sodir 305D

1. T - -

Statement I 1= correct, but Statement Il 1s incorrect

aeegp; 1350868, =23 argyy; 11 5850068

Statement I 13 incorrect, but Statement 11 1s correct

g [ 865208 =00 oy 11 83568

Both statement I and statement Il are incorrect

arsgp; I snBain sy I Cotle H63e0a



Question Number : 126 Question Id : 4771871047 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The force exerted by the earth on a ball 1s 16 N. Then the force on the earth by

the ball is (in Newtons)

2 2 P g = T PlpIE g e T A N T T A
28 2.8 o8 HArACT awo 16 gk, @3, wo8 gy PHarho

a1

eI 0



Question Number : 127 Question Id : 4771871048 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does the tangent, drawn to a magnetic field line at any point represent?
QB Hoth HY ©ahImos 5E Tud AbS 5)50p BIR SrDk08?
Options :
The strength of the magnetic field

& '-:;‘Cﬁtrrc:cﬁ o Gng) weo

The shape of the magnet

edhamo8o g wsedo

The distance between magnetic poles

F:?r:f*::ci?béoﬁ_‘i ((oarer 08 Srdo

The direction of the magnetic field at that point

3 Sothsd) 5 echaro8 5o s HI
4. i



Question Number : 128 Question Id : 4771871049 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a circuit, a 12 V battery 1s connected in series with three resistors of values
20,30 and 1 Q. Using Kirchhoff's Voltage Law, calculate the current flowing
through the circuit. (in Amperes)

il

2.8 DB Hochod® 12 Vereb 2 O, 3 0 5860 1 0 Denden 5DAS srtd JE°

'..“.'j
€5
9
(b
@,

22 Hogrdo Dhed ob. 8o 5 8L AchEry &H@PAD, Htr 85 Trioe Hired
i
-\Fl-r

Diogd B 0ok, (w0d0hb of)
Options :

% 0.5

[



Question Number : 129 Question Id : 4771871050 Question Type : MCQ Option Shuffling
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following table and choose the correct answer.
0B HBED S8 BB Sirmdo JoHsiod.

Weight percentage

athy e*do
Natural Syvnthetic
Element : l
sample sample
sreso
Sradsrs  Ho¥8ESdra
Copper
31.35 k35
oeh
Carbon
- 38.91 38.91
33'5{_5
Oxygen
0.74 0.74
@825

Which law of chemistry 1s 1llustrated by this data?

& SE@odo PP o) BaPODE 2oy Aohsho HHBotatiod?

Options :
Law of Conservation of Maas

383y D8 Daaho

Law of Definite Proportions

o e, WS Sy
P allamée oJdlsno
&

2. ¢

Law of Multiple Proportions

e @ Ddhsho

Avogadro's Law

RPIE Do

: Yes



Question Number : 130 Question Id : 4771871051 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following statements and choose the correct answer.

Lof amsgrech $560) 308 Hrprho dotBlol.

Statement I  : Bases which are sgluble in water are called alkalis.
array 1 . Hs® gen Food @eden (rorcing Trideso ) @otrsh.

Statement II : All bases do not dissolve in water.
arcay 1T : 99, IPoPen ABS° S81S.
Options :
Both statement I and statement Il are correct
seegy; I shBaim sy II Sotle H852
1.v -
Statement I 1= correct. but Statement Il i1s incorrect

secgy; 135088, =22 amgyy; 11 565008

Statement I is incorrect, but Statement II 15 correct

seg)s 1 365208 =20 angys 11 5056

Both statement I and statement Il are incorrect

PRy I 50860 & g4 II Goliir Hbseaa)



Question Number : 131 Question Id : 4771871052 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One formula unit of MgBr; consists of:

MgBr, Ging) 2.8 arthyee cirdd D8 5OA Gotoob:

Options :
One Mg* ion and one Br™ ion

+ o

2.5 Mg* eodird 50805 a8 Br~ edirs

One Mg?* ion and one Br™ ion

One Mg?* ion and two Br~ ions

L]

3.¢¥

2.8 Mg¥*edirR 80 Gotd Br- edird

One Mg* ion and two Br®~ ions

Mg* edirs $:86 Botd Br?~ edirsd

[UES

L]
[}



Question Number : 132 Question Id : 4771871053 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a sodium chloride (NaCl) crystal, each Na* 1on is surrounded by 6 Cl™ ions, and
each CI” ion is surrounded by 6 Na* ions. What does this arrangement indicate
about the structure of NaCl?
Péabo EPE (NaCl) 5B508°, & Na* e@dirs ey 6 C1- oo, 8 Cl- oS
e 6 Na* edird) sotron. & o988 NaCl doegso D800 &b Srddod?
Options :

NaCl has a body-centered cubic structure

NaCl @o: SoiHe 0 JT°era) DA Gotnod

Each ion in NaCl 1s tetrahedrally coordinated

NaCl 6°0 & adirs BrirEdr sdhdabo Dahathiod

Each Nat ion forms covalent bonds with Cl™ ions

58 Na* odirS Cl~ odirdE® $0rsdad somed a8 hdod

NaCl has a face-centered cubic structure with 6:6 coordination

NaCl 6:6 5505:0008° 509 SoHE o8 Joosrd), 9A Gotnod
4.9



Question Number : 133 Question Id : 4771871054 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements:

Lob amgresh S0H06:

A) Protochordates are Marine animals.
£hest Sﬂ?eq: 550 Eden.

B) Protochordates show a new feature of body design namely Notochord.
.:;*;"3&5"3 Sﬂ?mpf $8808° 58 eSpad md,.-:_._a{]D oo 59A Gotrom.

C) Proper Notochord is present at all the stages of life or for entire length of
the body of Protochordates.
Shest SEDP o #08 Bded B ando 2850 SPEHT 29 :_.fﬁr:u%’c:- &oénob.
Choose the correct answer

égﬁ E\_:'::-_:F'Q:'E‘:c\ n o) O?.,.J_,EEDF

Options :
Only A & C are correct

Only B & C are correct
B &. & G_J""I{I‘:‘-'M pﬁn,-:.-

Only A is correct

A SrEsh 5756

Only A & B are correct

A & B 5@ 585
4.



Question Number : 134 Question Id : 4771871055 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to C. B. Van Niel, during Photosynthesis, for the formation of each
molecule of carbohydrate, the required number of molecules of carbon and water
respectively are

-
o o &y

. i - ; N -~ - - P 5 .-: ot T i et
5. 8. 8 06 pordo, Sdmed: Sodiril 8D Hshohod”, H& 5 IPRE W

&

B : o =i y N - . A
ATEerD8, 530N UK B I8 weide Hogy HHST

Note: For this question, discrepancy 1s found in
question/answer. Full Marks is being awarded to all
candidates.

Options :
1& 2

[
g
]



Question Number : 135 Question Id : 4771871056 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following Phyla with their Excretory organ/system:

So0b Hored i Ec\,g’:’ @3chHdo aﬁJaﬂﬁ,E‘-‘ e300l

0
a) Nemetoda 1) Meta nephridia
[>T DHer JHEST
b) Mollusca ii) Flame cells
ey eceR Segren
c) Protozoa 111) Renette cells
ghesteta GRS Semen
d) Platyhelminthes 1v) Simple diffusion from the body
i:éﬁ-?ﬁ@go@ﬁ surface into the surrounding
water

Chooze the correct answer
208 Rsrrard) woihE ol
Options :

a-11i, b-11, e-1v, d-1
1. ®

a-1, b-1v, ¢-111, d-1n
2. ®

a-i, b-i,e-iv. d-1i
3. ¢

a—1v, b-1, ¢-11, d-1
4, ®



Question Number : 136 Question Id : 4771871057 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify from the following, the one that 1s NOT due to hormones.
Eobardd® (B85S Perdo e =R ool HBoNod.

Options :

Physical changes during adolescence

> ot O S
SPrOGEE” B8 sriyen

Breaking down of starches in the food eaten
&35y e:8 008" hols &

2. =

Control on the levels of sugar, salts and calcium in blood

>

S50&" 55, exsderen sHB80k0 sddho ﬁ:oz;e Alowlella 1
S o :

Formation of sperm

[ o q
HBEBeso G0



Question Number : 137 Question Id : 4771871058 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In plant cells, which of the following was earlier believed to be inactive but, now
it 1s considered to be one of the most significant parts of the cell which
continuously exchanges information with other cells during growth and
development?

a0y Sered®, 808 BE 28 HEos® Birdirdorr GoGHd frdodnd, pendo,

322 s : i - : § : o & iy
LHIbSe 08Cin l_-ﬂﬁ,s*@ Rihdhod” s88 Zwred” Jbodlo HdrarUrdy ar8E Tr

o

s
-
]
G,
E‘!l
U,
&%
=
:{j’;
-y
&
8]
£,
]
g
B
g
oo
d

Sea08” @808 20N
Options :
Cytoplasm

Sea(tho
=

Mitochondria

W

s seoficir

Cell wall

3 @ s 555350

Plasma membrane

-,

c_f-‘g Eajale

1o



Question Number : 138 Question Id : 4771871059 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The second brain in our body is spread throughout our
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Options :

Circulatory system.
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Question Number : 139 Question Id : 4771871060 Question Type :

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Read the following statements.
Eob eyl BNk,
A)  Asexual rerductiﬂn occurs only In plants.
©BoAE (8 Bndos” SPED etHibiod.
B) In Yeast. reproduction happens by budding.
S56°, kg8 E68e8s0 tRoe esiiDE0b.
Choose the correct answerr:
208 DHarEEdo aoHERod:
Options :
‘A’ 1s correct and ‘B’ 1z incorrect.

‘A’ 5058 sndan ‘B $85006.

1. ®
Both ‘A’ & ‘B’ are correct.
‘A’ & ‘B’ Golr $5059.

2. % -
Both ‘A’ & ‘B’ are incorrect.
‘A’ & ‘B’ Gor 58309

3. 0%

‘A’ 13 incorrect and B 1s correct.

‘A’ 3585206 SHtcin B 5806
4.

MCQ Option Shuffling : Yes



Question Number : 140 Question Id : 4771871061 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the organic matter present in the soil

So&® G0t DoBah ") B0l

Options :
Humus.
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Question Number : 141 Question Id : 4771871062 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
How does the sperm break through the egg cell membrane?

5 e L eon B ;.
ot Sea 5P 26, e ten @od?

Options :

4. ¢

by tearing a hole in the membrane

SPOS° Sopo ddhdo wroe

by biting through the membrane
et E-ettaloRaiitol
by squeezing through the gaps in the membrane

SPEE°R e Mo £ T ko o

by dissolving the membrane with chemicals /enzymes released
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Question Number : 142 Question Id : 4771871063 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The only cells in our body which do not have the ability of regeneration are

08 $B008” e 8 ;_Tlmé:gao B0 238 Beren
Options :
Blood cells
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Bone cells
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Question Number : 143 Question Id : 4771871064 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Disease causing microorganisms are called
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Options :
Antigens.
GirotiEn.
1. %
Pathogens.
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Question Number : 144 Question Id : 4771871065 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements.

Sob argpren S8506.

A)

B)

Some animals chew food very quickly and swallow and store in a part of
their stomach. After some time. they get the swallowed food back into
mouth and chew it again. This is called ‘Rumination’

5°0) esofden @Foedy orer &:0re H8ud, doof, e S5 3ERD 2.8 eriiodt Dex
Eﬁﬁ:o::. ol Hiuoho dond ©5) oAl w@:Foed) 86A | SESE &% S,
Kdenaron. A2 ‘Tt Jdnes’ wobtrs

Cow, Camel are ruminating animals.

¥ S— Lo #
. = R | R -
235, E.08) a0t ol PI0fNETED.

Choose the correct answer

208 Herrdo dothBob

Options :

1. ¢

Both ‘A’ & ‘B’ are correct.

‘A’ & ‘B’ Bokr ¥359.

‘A’ 1z correct and ‘B’ 1s incorrect.

‘A’ 3058 s0bain ‘B 585206,

‘A’ 13 incorrect and ‘B’ 1s correct.

‘A’ 588 800 B’ 5556,

Both ‘A’ & ‘B’ are incorrect.

‘A &, ‘B’ Cotir Sb6s0035).



Question Number : 145 Question Id : 4771871066 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following Indian scientists, who gave an accurate approximation

for m
S0 grfadh srgaged”. T8 90)EDS tePonoa @ofoldard
Options :

Arvabhata
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eadrdiés
T
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C.V. Raman

Jagadish Chandra Bose
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Question Number : 146 Question Id : 4771871067 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Students apply their new knowledge and perform a new related experiment that
extends their learning beyond the initial learning. It represents this step in the

5E learning model

2.¥

Engaging

Nsniho dchio

Evaluating
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Question Number : 147 Question Id : 4771871068 Question Type : MCQ Option Shuffling
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following questions is more subjective in nature?
08 HEes® 06 JEyd eoeydoh Siprho DA dotnod?
Options :
What 1s the SI unit of mass?
B8;0°8 aind, SI ahrde 28ne?

State Ohm’s Law.

Q

&
T

What are the laws of reflection of light?

£ B - o
orods .-'DT"Eﬁ}-:'L'\_, O aTmen aldndl ?

How 1s loudness perceived by different people?

'}D é..F_M %Lu oy o)EF hc‘-:'_?tf'.l

: Yes



Question Number : 148 Question Id : 4771871069 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following Assertion and Reason:
Sob Pt s208din se0eso SN0k
Asszertion {:A) : Sclence experiences paradigm shifts
a5 (A) : DY) MBS Srdpe S8HE0d
Reason (R) : Existing scientific theories and laws may be discarded in light of

new evidences.

Ie9es0 (R] D e BTPTPE Jaiijo8” [Rind %*&:jﬁ:- ?aazo@u s0Bd50 2 eI
E@ﬁ?ﬁéﬁ@ﬁét‘fﬂ;,.

Choose the correct option:

288 BT S°R)) Dosiol:
Options :
Both (A) and (R) are true but (R) is not correct reasoning for (A)
(A) %805 (R) Bo&ir aso =29 (R) (A) & £38 ardio =2t

1. %
(A) 12 true but (R) 1= false
- (A) 880 =20 (R) &80
(A} 12 false but (R:l 18 true
A) @dd:0 o8 (R) H-0
L, (e ,,

Both [A) and (R) are true and (R) gives correct reasoning for (A)

J (:"Q,I R) Coir Reso S0BdD [R) (A) € 188 arwed)y minod
4,



Question Number : 149 Question Id : 4771871070 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a village, a new disease 1s spreading rapidly and the patients are suffering
from variopus illnesses. A biological science teacher in that village wanted her
class X students to work out on the causes, symptoms, illnesses and preventive
methods for the disease. Which of the following method best suits in this
context?
.8 rod’, o8 58 arh Aforr .;50?'5 BothE’0h HBcn Biben DY wTEiremE”
EPSHOBTYD. & (PoE’R o8 55y SarTenren 85 DS S5KS D
Ho 8w, ofmre, o8 mren $80M Marde HEHep H BEred BHHT. &
Hotithos® Sob ;EE° 28 P $8TFECEH?
A) Lecture method

SSEVEIY nﬁigé
B) Project method

eras DS
C) Problem solving method
soarg 58a0 HOS

] P
&
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Choose the correct answer
208 DArETPER)) JoiDE of
Options :

A & B only

A & Birgs

A & Conly
A& CimEad

AB&C

B & C only

B & C 5rEsh
4. =



Question Number : 150 Question Id : 4771871071 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Group Learning basically 1s
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Options :
School orented
| % 7o BPBERNH
Teacher oriented
Garprdl erEbHE N
Process orented
250D esrrBEDHG

3. ¢

Evaluation oriented
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